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2015 oHur oBnrf H apra xoMxeoHhrl
ueenrrilH ryxah

Mosron Yncstu "Sueufiyt raMrp, cnoprbrH tyxah" xyyrrb, 3acruitrt ra3pbtH 2009 oHur
05 4yraap rorroon, 3acrrarlH raspbrH 2014 oast 34 pyreep rorroon, HnhcneruhH 3acar
Aapra 6eree4 YnaaH6aarap xorbrH saxnparvrfiu rvroprrZH xoronOop, e1witn 3acar,
nuil,l'twiln 2015 oHur sopr/lrbtr xoperxyynox 3ophnroop TYIlJAAX ns:

1. Hrt7cnen, pyyprrrraH HyrrrtZH saxnpraaHa lanryynnaryyAbrH axilrraH, an6as
xaarqAbrH "[-]surer araap-2015" coAsBr eanNfiH ynilpanA 3oxLtoH 1anryynax 6uevtitn
TaMilp, cnoprblH yt7n aNrnnaTaaHbr uesnrnilH egepnerrrZr 2015 onur 0'1 Ayroop capbtH
24-lnn egep Xau4rarlruru "fiHsara" 3ycnaHA 3oxr/,1oH 6ailryyncyran.

2. Oenuila apra xoMxseHnt7 Heonrnrlr 3oxhoH lahryynaxag lxaapAargax tocewitr
xaBcpanraap 6arancyrarTr.

3. lespx apra x3Mx3or 3oxhoH lafiryynaxaA ruaapAarAax 5 544.500 lraaa+ can
TaBaH 3yyH ,qeqilH AepBeH MFHTa raBaH eyy/ rerperufir Huilcnsntaha 6neuV,u raMfip,
cnoprblH ra3pblH 1nenha raMilp, vrarTrpsrxyynenrrfiu tuhtwhr xaMapcaH apra xgMxesHnil
recehiln 3apAnaac rapraxbtr HfiTTflaH 6ogoru o.3pgeHeqsllgr-T soau:eepcyrerZ.

4. flsspx apra xoMxseHp HratZcnon Ayyprvth-r nytrwfiu saxnpraaHbr lahryynnara
6oloH ax axyt7H Hsrxrt7H axhnraH an6au xaarq, nprspuitr epreHeep xaMpyyax, 3oxlloH
6arZryynanrutH oHAep xoMxooHp FByynaxbrr axnax Moproxhnrsu A.Songruaa4 yypor
6orrocyrail.
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7 Huhcnsntriilt \uenna ra M h p, cn o prbt H ras p bt H Aa p rbt H

20 1 5 oHur qiftff// .,.... capbrH . (.-aat esprrfr H

///,fuJ Ayraap ryrxaanblH xaBcpanr
/ ,"

ugsnrurZn receB

Ns 3aparurH Hso Too u.irpxer,3apAnbtH xeMxoo HrrZr avH

I
TsseprftH xeflc, 6eHenu
tJlATAXVVH

200.000? 200 0?

2. Ysenu, xerner.{ilrZH xenc 200.000? 200.0?
J AHoHc, ypilnra 304.500? 304.5?

4.
l-.[oru oprenaxnen, Cnopr,
vprarrrlH v3vvngx, Torflorr 1 000.000? 1 000 0?

5.

o. LLlarsan

1-p 6ahp-2 x 100.0?
2-p 6ahp-2 x 80,0?
3-p 6arip-3 x 60.0?

540.0?

Eailryynrarbr H r.rtaTHar
1-p 6anp-1x 350.0?
2-p 6ahp I x250.07
3-p 6ar,rp 2 x200.07
4-pSatrtp2x150.0T
5-p 6ar,rp 2 x 100.0?

1 500 0?

8. [IJyyrvgrraH 3apgan: 15xyHxl ogopx20.0ror 300.0?

10
9 nvsrnen, Br4eo 6r.tner,
3Vpar 1 000 000? 1.000.0?

11

Typsec, yrZnvrnrseHril
3apAan

500? 500 0?

Hr4hT EYH 5.544.500?

SonoacpyyncaH
XqFracaH
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